ERWFa NRES 2 H

RECHIMBBEEEICAMTET D E. BETHREFICE>THELNTT . RROHBEEVTKNNEEEZELUET . Bl

Z. BNFICTORVIENVTSES !

1. mmf@;;@;@ﬂwﬁ‘)
(1) (a=b+1)(a-b-2)

(b~ o) -2
ff'lﬁ?b* b—asb-2.

i

‘ )

0
ok
|

|

'\)

"

= (X=2)(x+10)

(2) 2x—132x+1)3

: 3
=3 (2x—1ax+) )|
= 111 = ganb-asxtrai- |

T#__®_ B RA

A3
| N\
3) (A-BHC)(A+B%0) (4) (x—4)x—-2)(x—1)(x+1)
i} ({A“'G'B)@&Q*B) (A’V)(A"'V) = [(E3x—4 (X33
= fwer- B° = -V X=3%—4 ) (X=3R+ 2)
= \A<C | — - -
\" . _r \Z Ca D
= ((xe3%) — 2083 — &
_ a2 v sz'vl ' (
A*lAQ'\’ b N LQBBX 4 /3 2 A o
(- B CH2A) BRI = b D10 -8
2. ROXERKSRE &, \ = Kb x3+ I+ 61— S
(1) 9x2'—12xy +4y2' 2) ¥y+2x*y? +xy? (3) 48x*y—75x%y3 a
UOr ) =3 (beas)
= A% —~ . ]
. Bx—2%) = x4 (x+4)* = 3x?4 (dx- §4)4x+5%4)
g B0
(4) x*+x-2 f%{\\{r{lt (5) x*+5x+4 (6) x*—x—=20
. 22, l_:;i—_ ~Cx4
| 44 [ -§—-F
| | — |><q.—\ 4
. é — ___‘
: _ = (X (x4
=(x+ 4 Yx+ 1) SR St
(8) x*+8x—20 9) ¥*+2x—8
_q*g'ﬂ -2k
[ =) — =2 'lx-'Z—-—?—Z
| (Q— (Q ' 4— 4
g - “
= (X’IXX--\—‘{-)
(x=3)(x+2)

SHEELBIEHEN G FT !



(10) 2x2 —x—3
jx2 —tx3
2 =353

| 11— 2
-\
= (2x-3Yx+1)

(13) 6x* —5x+1_

2x3 x{
D-X-—\ — -3
B e 7

-5
= (2x=13x)
(16) 3x* +13x—10

ix3 —2X§

\ § — 5

'3>><-l — 2

(3

(11) 6x* +5x—6

%3 -2x3
2 3-—/19
P SN
37 — -4

&

\

(2%+3)3x~2)

(14) 42 —8x+3

2x2 1x3

2 -\ —-2

zx—z-—-?;é_
-8

(2x =V Y2x— 3)

(17) 10x? +4x—6
= 7_(5‘x1+2><:§)
1:«;' X3
I =75
X
c 33— 3
2.
= 2 (x+1Y$x=23)

(6+x)(z—x¢) (1) (e+x)(1—x) (s1) (1—x0)(e—xT) (¥1)

(z—xe)e+x7) (11) (1 +x)(c—xz) (01)
F+x)(6—x) (9)  (1+x)(p+x) (9)

8—X9+ X/ + X9 — X (7)

(1= (z+x) ()
84— 70+IVvT+,v (€)

(T =X+ %) (6)

(12) 8x* —2x -3

2% & —\x3
2 W >4
4
4 3> -6
-2

= (2x+1 X4%-3)

(15) 8x* +10x—3

Ax2d -1x3
4 -1 —-2
Zx 2= [2

iQ
= (4x~ 1) 2x+3)

(18) 4x* —4x—3
212 -1x3

2 -3— -4

2 | — 2
-4

= (2x-3)2x+ )

(L+x7)(e—x7) (8T)  (L+x)(g—*€)7 (1)

(L—=x€)(1—x7) (e1) (1 +x0)(e—xt) (2T)
Z—x0L+% (8 (@+x(€—x (@)

(fig+xp) (is—xp)fixe (8)  ,(A+x)fx (z) ,(Az—x€) (1) T

L= XTL+ X8y — 49 (2) T—a+D—,a+q07—,0 (1) T

e



